TELANGANA STATE ROAD TRANSPORT CORPORATION

No. P3/122(01)/2025-RM:WL

Office of the Regional Manager, Warangal, Dated, 24-04-2025.

TENDER NOTIFICATION

IENDEK NOTIFICATION

Sub-CONTRACTO Sub:- CONTRACTS:- Letting out of various works on Outsourcing basis in Warangal Region – Calling

for Tenders - Reg.

Tenders are inviting from the interested Contractors for various works on Outsourcing basis, in all depots of Warangal Region as mentioned hereunder.

S1. NO.	Depot	Artisans :- Nature of W	orks	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	EMD (Rounded)
			1181	2 Hi-Skilled Workers 2 X 26,800.83 = Rs. 53,601.66 ps.	
		Artisans		2 Skilled Workers 2 X 21,938.20 = Rs. 43,876.40 ps.	Rs. 1,00,000/-
01	HNK	HNK Tyre Mech - 01	Total = Rs. 97,478.06 ps.		
	Hammerman - 01 Hammerman - 01 Monthly Remuneration 97,478.0 including PF, ESI, EDLIF & 7 %	Monthly Remuneration 97,478.06 ps. including PF, ESI, EDLIF & 7 % Profit Margin.			
		Artisans 3 Hi-Skilled Workers 3 X 26,800.83 = Rs. 80,402.	3 Hi-Skilled Workers 3 X 26,800.83 = Rs. 80,402.46 ps.	-	
			4 Skilled Workers 4 X 21,938.20 = Rs. 87,752.80 ps.	Rs. 1,70,000/	
02	JN			Total = Rs. 1,68,155.29 ps.	
			Monthly Remuneration 2,30,134.97 ps. including PF, ESI, EDLIF & 7 % Profit Margin.		
		Artisans		2 Hi-Skilled Workers 2 X 26,800.83 = Rs. 53,601.66 ps.	
		Welder - 01 5 Skilled Workers 5 X 21,938.20 = Rs. 1,09,691.00 ps.	5 Skilled Workers 5 X 21,938.20 = Rs. 1,09,691.00 ps.	Rs. 1,70,000/-	
03	PRKL	Electrician -	02	Total = Rs. 1,63,292.66 ps.	1.5. 1,10,000,
		Painter - 01 including PF, ES	Monthly Remuneration 1,63,292.66 ps. including PF, ESI, EDLIF & 7 % Profit Margin.		
		Artisans		2 Skilled Workers 2 X 21,938.20 = Rs. 43,876.40 ps.	
		1000	01	Total = Rs. 43,876.40 ps.	Rs. 45,000/-
04	TRR	Diackonnicia	01	Monthly Remuneration 43,876.40 ps. including PF, ESI, EDLIF & 7 % Profit Margin.	1137 13,2007

Asst to Mechanics(Shramiks) :-

SI. NO.	Depot	hanics(Shramiks) :- Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	EMD (Rounded)
05	WL-1	Asst to Mechanics(Shramiks)	16 Semi-Skilled Workers 16 X 18,219.04 = Rs. 2,91,504.64 ps. Total = Rs. 2,91,504.64 ps. Monthly Remuneration 2,91,504.64 ps. including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 3,00,000/-
06	HNK	Asst to Mechanics(Shramiks)	11 Semi-Skilled Workers 11 X 18,219.04 = Rs. 2,00,409.44 ps. Total = Rs. 2,00,409.44 ps. Monthly Remuneration 4,00,818.88 ps. including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 2,05,000/-

07	PRKL	Asst to Mechanics(Shramiks)	04 Semi-Skilled Workers 04 X 18,219.04 = Rs. 72,876.16 ps. Total = Rs. 72,876.16 ps. Monthly Remuneration 72,876.16 ps including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 75,000/-
08	JN	Asst to Mechanics(Shramiks)	09 Semi-Skilled Workers 09 X 18,219.04 = Rs. 1,63,971.36 ps. Total = Rs. 1,63,971.36 ps. Monthly Remuneration 1,63,971.36 ps including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 1,65,000/-
09	NSPT	Asst to Mechanics(Shramiks)	05 Semi-Skilled Workers 05 X 18,219.04 = Rs. 91,095.20 ps. Total = Rs. 91,095.20 ps. Monthly Remuneration 91,095.20 ps including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 95,000/-
10	мнвр	Asst to Mechanics(Shramiks)	07 Semi-Skilled Workers 07 X 18,219.04 = Rs. 1,27,533.28 ps. Total = Rs. 1,27,533.28 ps. Monthly Remuneration 1,27,533.28 ps including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 1,30,000/-
11	BHPL	Asst to Mechanics(Shramiks)	07 Semi-Skilled Workers 07 X 18,219.04 = Rs. 1,27,533.28 ps. Total = Rs. 1,27,533.28 ps. Monthly Remuneration 1,27,533.28 ps including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 1,30,000/-
12	TRR	Asst to Mechanics(Shramiks)	05 Semi-Skilled Workers 05 X 18,219.04 = Rs. 91,095.20 ps. Total = Rs. 91,095.20 ps. Monthly Remuneration 91,095.20 ps including PF, ESI, EDLIF & 7 % Profit Margin.	Rs. 95,000/-

Sweep sl. no.

16

Sweeping Cleaning of Bus Station Yards and Platforms:

Swee	weeping Cleaning of Bus Station Yards and Platforms:				
S1. NO.	Depot	Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	EMD (Rounded)	
13	WL-1	SWEEPING CLEANING YARD AND PLAT FORMS AT PALAKURTHY "C" CLASS BUS STATION AND WATERING OF PLANTS WITH MAINTENANCE OF FREE TOILETS,	01 Un-Skilled 01 X 15,421.56 = Rs. 15,421.56 ps. Monthly Remuneration Rs.15,421.56 Ps. including PF, ESI, EDLIF & 7 % Profit Margin.	Rs.20,000 /-	
14	JN	SWEEPING CLEANING YARD AND PLAT FORMS AT JANGAON MAJOR BUS STATION AND WATERING OF PLANTS	08 Un-Skilled 08 X 15,421.56 = Rs. 1,23,372.48 ps. Monthly Remuneration Rs.15,421.56 Ps. including PF, ESI, EDLIF & 7 % Profit Margin.	Rs.1,25,000 /-	

Maintenance of Free Toilets at Bus Stations:

SI. NO.	Depot	Nature of Works	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	EMD (Rounded)
15	WL-1	MAINTENANCE OF FREE TOILETS AT STN GHANPUR BUS STATION "C" CLASS.	2 SAFAI KARMACHARIES 2 X 19,727.55 = Rs. 39,455.10 ps. Monthly Remuneration Rs. 39,455.10 ps. including PF, ESI, EDLIF & 7 % Profit Margin). INCIDENTAL CHARGES Rs.1500/-	Rs.40,000/-

. Toilets: Sweeping and Cleaning

Sweeping and Cleaning Yard, DMs Office with Main			ice with Maintenance Toilets:	EMD
NO.	Depot	Nature of Works	MIN. WAGE FOR PERSON FEAT	(Rounded)
16	HNK	GARAGE SWEEPING AND CLEANING YARD, DMS OFFICE WITH MAINTENANCE OF TOILETS PROVIDE 1 OFFICE ATTEDENT	5 Un-Skilled Workers 5 X 15,421.56 = Rs. 77,107.80 ps. Monthly Remuneration Rs.90,618.78 Ps. including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 80,000/-
17	JN	GARAGE SWEEPING AND CLEANING YARD, DMS OFFICE WITH MAINTENANCE OF TOILETS PROVIDE 1 OFFICE ATTENDENT AND SWEEPING, CLEANING OF HPCL OUTLET	7 Un-Skilled Workers 7 X 15,421.56 = Rs. 1,07,950.92 ps. Monthly Remuneration Rs. 1,07,950.92 ps. including PF, ESI, EDLIF & 7 % Profit Margin).	Rs. 1,10,000/-

Cargo and Parcel Services:

S1.			MIN. WAGE FOR PERSON PER MONTH INCL	EMD (Rounded)	
NO.	Depot	Nature of Works	PROFIT MARGIN	(Roundo 2)	
18	HNK Cargo and Parcel Services Total = Rs. 1,27,533.28 ps. Monthly Remuneration 1,27,533		07 X 18,219.04 = Rs. 1,27,533.28 ps.		
		Total = Rs. 1,27,533.28 ps.	Rs.1,30,000/-		
		Cargo and Parcel Services	Monthly Remuneration 1,27,533.28 ps including PF, ESI, EDLIF & 7 % Profit		
	1		Margin.		

Value Added Facilities (Washing Blankets and Curtains of Lahari, Rajadhani, Garuda & Garuda Plus of all A/C buses):

SI. NO	Depot	Nature of Works	EMD (Rounded)
19	WL-1	Mechanized washing and cleaning of blankets, Bedsheets, Pillow Covers and Curtains of all A/C Buses of Various Depots located in Warangal region and supplying the same in neat and tidy condition duly ironing and packed.	EMD: Rs. 50,000/- (Rupees Fifty Thousand Only)

Value Added Services Providing Attenders In Ac Buses Of Warangal-1 Depot

SI. NO.	Depot	Services Providing Attenders In A	MIN. WAGE FOR PERSON PER MONTH INCL PROFIT MARGIN	EMD (Rounded)
20	WL-1	VALUE ADDED SERVICES: PROVIDING ATTENDERS IN AC BUSES OF WARANGAL REGION. DISTRIBUTION OF WATER BOTTLES / FACE FRESHENER TO PASSENGERS (BOTTLES WILL SUPPLY BY CORPORATION) GIVING ASSISTANCE TO PASSENGERS IN LOADING AND UNLOADING LUGGAGE TO OPERATE AUDIO/VIDEOS ANY OTHER WORKS RELATED TO BE ATTENDED	11 (Approximant) UNSKILLED WORKERS @ Rs.15,421.56 ps. EACH PER MONTH (11X15,421.56= 1,69,673.16 ps.) including PF, ESI, EDLF & 7 % Profit Margin.	EMD Rs. 1,70,000/-

The Tender Schedule is as follows:

: 21/05/2025

a) Sale of Tender Forms from b) Sale of Tender Forms Last Date till 5.00 pm.

:06/06/2025

c) Dropping of the filled Tender shall be submitted in the tender box at RM's Office, Warangal

: 09/06/2025

from 10:30 hrs. to 02.00 pm

d) Opening of Tender Box for verification and finalization of tenders from 3.00 pm onwards.

: 09/06/2025

TERMS AND CONDITIONS:

- 01. The prescribed Tender forms can be obtained from concerned Depot Manager's Offices of Warangal Region in all the working days during Office Hours from 10.30 AM to 05.00 PM.
- 02. Cost of Tender forms rates in various depots for works in WARANGAL REGION.

SI.No	Category of Bus Station/Depots	Cost of Tender form
1	Major: WL-1, HNK, JN	Rs. 1770 (1500 + 270(GST @ 18%))
2.	A-Class:	Rs. 1180 (1000 + 180 (GST @18%))
3.	B – Class: NSPT, MHBD, PRKL, BHPL,TRR	Rs. 885 (750 + 135 (GST @18%))
4.	C–Class: Palakurthy B/s and Station ghanpur B/s	Rs. 295 (250 + 45 (GST @18%))

- 03. The EMD amount shall be drawn through Demand Draft only in favour of **ACCOUNTS OFFICER TGSRTC.**, **WARANGAL.** From (ANY NATIONALIZED BANK). In case of failure to enclose the Demand Draft, in original to the Tender form/application submitted, will be rejected. The EMD amount shall not carry any interest.
- 04. The filled Tender form shall be submitted in the Tender box in the Office of the Regional Manager, TGSRTC, Hanamkonda from 10.30 Hrs to: 14.00 Hrs. on / /2025 and the box will be opened at 15.00Hrs on the same day in presence of the tenderers or their authorized representatives.
- 05. In case EMD paid by the tenderer is less than what is stipulated in the tender notification or the EMD paid through other means i.e., in a manner other than the stipulated terms and conditions, the tender will be rejected besides forfeiting the EMD.
- 06. In case the amount offered is less than the amount mentioned in the Tender Notification, the tender form/application will be rejected since the value of Contract amount includes the Minimum Wages, PF/ESI with profit Margin. Other things being equal, if more than one Tenderer quotes same rate and found suitable by the Tender Committee, the Contract shall be allotted on the basis of LOTTERY. The Contractor must have PF/ESI registration and it will be renewed with valid date. Further, the Labour license obtained in respect of shops and establishment is not acceptable. The form VI issued by the Dy. Commissioner of Labour / Asst. Commissioner of Labour shall invariable enclosed for verification. (Wherever applicable).
- 07. The Tenderer has to enclose a copy of his PAN CARD, GST NUMBER, Aadhar Card, PF, ESI, Labour license etc., without fail.
- 08. The detailed Terms and Conditions relating to the above-mentioned work contract will be supplied along with the Tender form/Application.
- 09. For any other details please contact concerned Section In-charge only at REGIONAL MANAGER OFFICE, Warangal during the Office working hours.
- 10. The Corporation reserves the right to CANCEL the tenders without assigning any reasons thereof.

Regional Manager Warangal Region No. P.

Su